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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

[Multiple Choice Type Questions] 15x01=15
IRA T gl &1 o1 oRifie 9 i @ ot &7
(&) el & BIRUT
(@) FHRIAT & HRO
(1) QAT Ud SAATIGAT & BRI
(@) 31 q BIg T
Why is the Indian military system compared to a pyramid?
(a) Due to Unity
(b) Due to similarity




(c) Due to unity and series

(d) None of these

MR o AT fohd dwarel # farfora 7
(@) 04
(@) 05
(1) o6
(&) o7
Indian Army is divided into how many commands?
(a) 04

(b) 05

(c) 06

(d) 07

3- T GReAT yRYS HT 3fedel Hid BT 27

5-

() RTzufey

() gerTE=

(1) e

(51) RIS GReTT TR

Who is the chairman of the National Security Council?
(a) President

(b) Prime Minister

(c) Defence Minister

(d) National Security Adviser

oI WA BT UG BIl o—

(@) HOR SR

(@) otftede SRa

(1) SR

(@) Wics AR

The post of Chief of Army Staff is-
(a) Major General

(b) Lieutenant General

(c) General

(d) Field Marshal

IRA H AT 3oy g JE11 I 27?
(@) 03 faHaR

(@) 04 faHaR

(1) 05 faHaR

(&) o6 fawaR

When is navy day celebrated in India?
(A)03 December

(B) 04 December

(C) 05 December

(D)06 December



6- f=ferRad # & @ A1 RA &7 W@ e, w82
(@) TARTST 2000
(@) b
() AT 27
(=) o
Which of the following is India’s indigenous fighter aircraft?
(a) Mirage 2000
(b) Rafale
(c) MiG 27
(d) Tejas
7- MRA H gAAE AT AR D 22
Who is the current Chief of Naval staff in India?
8- d0vA0THO HT Ui w9 forRay |
Write the full form of BSF.
9- fHa FHe— BRRIR e UgA arel R SR ¢ |
Who said- Weapon is an instrument with striking power.
10- R BT ATEH....ooo P! BEA © |

The missile test range in India located in....................

12-T0 10 0 BT TG T oo H g
The year of establishment of N.C.C.is ..................

13- 31w (A) — Ued 91 BT Jg &F B I B ®Y H ST O &7 |
PR (R)— Ig UGl a9t B G A AT AT DI d8ls oSl o |
(@) MDA (A) 3R BRI (R) T I B |
(@) arffped (A) 3R BRI (R) QFT 3 & |
(M) AABUT (A) TSI & Afdh BRI (R) 3 ¢ |
(&) IMBAT (A) 3N & oifh BRI (R) T & |
Assertion (A)- Infantry is known as ‘Queen of the Battle field.’
Reason(R)- It fights face to face with the enemy on foot.

(A) Both Assertion (A) and Reason (R) are true.
(B) Both Assertion (A) and Reason (R) are false.
(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) is true.

14- MBI (A) — IMYHSH F9I H arg AT Siid H1 eldds AT Sl © |
FRU (R)— Rifd I A1 g & SR g I A Fa9 BRIaE] oA 4 FeH © |
(@) MDA (A) 3R BRI (R) T T B |
(@) 3rffperd (A) 3R BRI (R) QIHT 3 ¢ |
(1) fABAT (A) I © <fhd BRI (R) NI % |
(&) AIBAT (A) I © AfhT HRT (R) T ¢ |




Assertion (A)- In modern period, Air Force is considered a symbol of victory.
Reason (R)- Because the Air Force is capable of taking action everywhere at a rapid pace
during war.
(A) Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.
15-31fer (A) — fgdia fivage 5 w9 7 WAV g6l &7 JANT b |
PR (R)— U TRAT] g8 MU & (2RIRMET 3R ARG el iR RR1G 137 |
(@) 3NfIBAT (A) R HR (R) A T B |
(@) i (A) 3R BRI (R) QFT 3 & |
(1) IFABUT (A) I © <fhd BRI (R) 3NIY % |
(&) AIBAT (A) NI © AfhT HRT (R) T ¢ |
Assertion (A)- Russia used the nuclear bombs during the Second World War.
Reason (R)- These bombs dropped on Japanese Hiroshima and Nagasaki cities.
(A)Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.

[Very Short Answer Type Questions] 06x02=12
2. 9gd AT &Y dis I HHAr foRau |
Write any two weaknesses of infantry.
3, IRART AT @ gl =R umgfeadt & A forfag |
Write the name of any four submarines of Indian Navy.
4. AHfed IR & BORR B &7
What are the weapons of mass destruction?
5. URIRIDH T HH1 H B A e Bkl 57
Which platoons are there in an administrative company?
6. MR & B IR 3 I qaf & 1 faRay |
Write the name of any four Para military forces of India.
Or
gTafRIes |1 B IS R E |
What are the units of Territorial Army?
7. gere] a1 ufaferard fafay |
Write the reactions of atoms.
Or
Ued 91 & Bl IR BRRIR oy |

Write the any for weapons of infantry.




[Short Answer Type Questions] 06x03=18
8. U= WIT6d & BIs o1 Igaedl Bl IRy |
Write any three objectives of military organization.
9. 3SITRT BR BI UHE faRivad forfay |
Write the main features of the corps of engineers.
10. AIGAAT & BT BT qUiF DI |
Describe the functions of air force.
1. IR A1 & AR faamit &1 aoie S |
Describe the various departments of Indian Navy.
12. Uef¥Te /1 BT IGATT T 82
What are the objectives of Territorial Army?
Or
TSR dec DR & Iqaed folRay |

Write the aims of NCC.
13. EPRIR & BRR &Har & AuRe aw@ forfau |
Write the determinants of fire capacity of a weapon.
Or
JATHATT B FHI (b ddivaR & ST foIRay |

Write the uses of rocket launcher during attack.

[Essay Type Questions] 03x05=15

14, YRA & I=acR &7 FT6H & ARAT HITTT |
Explain the higher defence organization of India.
OR
I& ¥ YT & RGBT [RRYdd auie BIfTg |
Describe in details the principle of administration in war.
15. IRAT a1 & {991 &1 faRivarg v gaRi &1 fad==r sifomg |
Discuss the characteristics and types of service aircraft of Indian Air Force.
OR
AR arg |1 D UG SRITAT BT quid DI |
Describe the major branches of Indian Air Force.
16. 1%l 1 faRIwarsl iR Sl ®1 qoi| P |
Describe the characteristics and disadvantages of rifle.
OR
Ugel Jelferd & GRa &I fawgd auid HIfY |
Describe in details the structure of Infantry Battalion.




